 Scalability of particle modules in PC;

Pa rtlde * "particles_dust.f90" and
M Od U ‘eS | N 4 "particles_charged.f90”: inertia,
¥ Coulomb force and Lorentz force

Pe ﬂCil COd e ' cannot be handled at the same time;
(PC)

* Dealing with large number of inertial
particles




Scalability of particle modules in PC
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"particles dust.f90" and "particles charged.t90
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inertia, Coulomb force and Lorentz force cannot be handled at
the same time



Dealing with large number of inertial particles

5.24.2 Large number of particles

e Increase ncpu and decrease mpar_loc. For npar=124999680, ncpu=1024 is needed.

integer, parameter :: ncpus=1024,nprocx=8,nprocy=8,nprocz=ncpus/(nprocx*nprocy)
integer, parameter :: nxgrid=1024,nygrid=nxgrid,nzgrid=nxgrid

integer (kind=ikind8), parameter :: npar=124999680

integer, parameter :: mpar_loc=b5*npar/ncpus

integer, parameter :: npar_stalk=100000, npar_mig=npar/ncpus



